Tz i1 o2 BB §7

vier Briiche, Dezimalstellen, Reihenfolge der
Operationen

Name:

1 1
—+12x-=+3+5x47=
6 6 ’

2
2,6+ x2+3,7=

%+3,9><5+4=

3
S m4x3,1%2+2x3,1=

1
cH8X2254-4x

W —

Datum: Ergebnis:

2
5,5+ +3x42=

3
4,8+ 15 % Z+5+5><5,6=

2,9—-12%x5,3+-4+4x5,7=

1
2,7—15x —=+3—4x
’ 4

W —

1
S —4xZ22-4x2=
3
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Tz i1 o2 BB §7

vier Briiche, Dezimalstellen, Reihenfolge der

Operationen
Name: Datum: Ergebnis:
1 1 73 2 37 1
—+12x=-=+3+5%x4,7=—=24- +-+3%x4,2=—=18=
G 6 3+5x4,7 3 5,5 3 3 x4, > 82
2 71 1 3 701 1
2,6 +—x2+ = — =T7T— 4,8+ 15x - +5+5x = — =35—
,6 5 3,7 0 710 ,8+ 15 1 5+5x5,6 20 3520
1+3 Ox5+4= 143—235 2,9—-12x5,3+4+4x%x5 7—49—94
37 6 6 ’ T 5 75
3 3 1 1 7
——4x3,1+2+2x3,1= - 2,7—15x = +3—4x-=—
5 3 3 5 1715 4 3 3 60
1 I 97 7 1 3 133 13
—+8%x2,2+4—-4x-=_—=3— =4 X =-+2-4x2=(——)=(—8—
6 82, 3 30 330 3 5 ( 15) (815)
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